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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence,
Then mark the answer ont your answer sheet,

1- It had not rained on the prairie for several months. Because of the drought, the climate

had become very ----—----- 1
1) unsteady 2y rigid 3) intense 4y arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew ----—----- in the front yard.
1) unchecked 2) unjustificd 3) complicated 4) scanly

3- Can you please -----—---- this last part of the lesson for me; I’'m not sure [ understood,
1) recapitulale 2) identily 3) postulale 4) recount

4-  Cerry’s dissatisfaction with our work was --——---—--- in his expression, although he never
criticized us directly.
1) vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas —-———---- arc finite; one day they will run out, so think now
abhout what yvou can do to consume less.
1) appliances 2) deposils 3y relics 4) amenitics

6-  You are recommended to use mnemonics to help vou -----—----- important items of
information.
1) enumerate 2) expose 3) recall 4y withdraw

7-  The lifespan of a mayfly is ---------- , lasting from a few hours to a couple of days.
1) imprecise 2) ¢phemeral 3) superficial 4) swift

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -----—-—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical ----—---— which have puzzled

man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer on your auswer sheet.

When Newton arrived at Cambridge, the Scicentilic Revolution of the 17th century was
alrcady in full force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) --—----—- relined by Galilco—was well
known in most Furopean academic cirelces.

Philasopher René Descartes had begun to formulate a new concept of nature

(12) —memmemem an intricate, impersonal and inert machine. {13) -------—-- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, (13) --—---——- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4y which was later
12- 1) like 2) such as 3)as 4) the same

13- 1) Although 2) As though 3) Because 4) Yot

14- 1)in 2) lor 3) with 4y ol

15- 1) dealt 2) dealing 3) by dealing 4y and was dcalt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

Since the carly cightics we have been only (oo aware of the devastating ¢ffcets of
largeseale environmental pollution, Such pollution 15 generally the resull of poor
government planning in many developing nations or the shortsighted, selfish policies
of the already industrialized countries which encourage a minority of the world's
population to squander the majority of its natural resources.

While events such as the deforestation of the Amazon jungle or the nuclear disaster
in Chernobyl continue to receive high media exposure. as do acts of environmental
sabotage. it must be remembered hat not all pollution is on this grand scale. A large
proportion of the world's pollution has its source much closer to home. The recent
spillage of crude oil from an oil tanker accidentally discharging its cargo straight into
Svdney Harbour not only caused serious damage to the harbor foreshores but also
created severely toxic fumes which hung over the suburbs for davs and left the angry
residents wondering how such a disaster could have been allowed o happen.

Avoiding pollution can be a Iulltime job. Try not to inhale trallic lumes; keep away
(rom chemical plants and buildingsites; wear a mask when cveling. It is enough (o
make you want to stay at home, But thatl, according to a growing body ol scientilic
evidence. would also be a bad idea. Research shows that levels of pollutants such as
hazardous gases. particulate matter and other chemical "nasties” are usually higher
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17-

18-

19-

20-

indoors than oul, ¢ven in the most polluted citics. Since the average American spends
18 hours indoors for every hour outside, it looks as though many cnvironmentalist may
be attacking the wrong target.

According to paragraph 1, who is most responsible for large seale environmental
pollution?

1) Developed nations 2) Developing nations
3) Certain governments 4) A majority of the world’s population
According to paragraph 2, acts of environmental sabotage -------------,

1) receive a lot of media coverage

2) are one of the factors that canse deforestation

3) are forgotten after a short period of time

4y produce a large amount of the world’s pollution

It can be inferred from paragraph 2 that the residents of Sydney suburbs believed

1) the oil spill should have been prevented

2) thev should have been warned about the toxic fumes

3) the oil tanker shouldn'( have been allowed to enter the harbor

4} the disaster that they sulfered did not reccive cnough media exposurc
The word “that” in paragraph 3 refers to ———ca—caceeev .

1) wearing a mask when cycling 2) staying at home

3) cveling 4) home

Which of the following is NO'T true about pollution according to paragraph 3?
I) Avoiding pollution can be difficult.

2) Particulate matter is an example of pollutants.

3) [ndoor pollution is worse than outdoor pollution.

4) [n the most polluted cities, people can avoid pollution by staying home.

PASSAGE 2:

'The industrial hygienist uses a variety of methods and techniques in the recognition
and control of hazards in the workplace. Most companies have defined processes by
which materials, equipment. or services are produced. The industrial hygienist is
required to understand the mechanics ol these processes, and in many cases, he or she
has been trained to identily, cvaluvate, and contrel many ol these industrial and
traditional workplace hazards. Howcever, there are situations where a hazard may not
be casily recognized or controlled. or the worker docs not perecive that the hazard has
been recognized and/or contrelled. In addition, the worker or. as 18 more olien the
casc, a change in the work activity or task may creatce a hazard that did not ¢xist when
the work process was originally cstablished. For example, a chemical manufacturer
may he required to substitute one of its chemical products, used in its manufacturing
process. for one that is less toxic. As part of this required change, the company will
need to modify its manufacturing process to adapt to a variation in chemical tormula
and will require an additional piece of equipment. Review of the new manufacturing
process. by the industrial hygienist. may identify a new exposure hazard while workers
are performing their job assignment, which could result in an increased health risk.
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21-

22-

It is the job ol the indusirial hvgicnist (o review and cvaluale a process, and listen 1o
the workers when defining and controlling hazards., The hazard may be relevant (o a
process that includes mulliple picces ol cquipmenl, not just onc: but rather
collectively, the process crcales a hazard. In such situations, industrial hygienc
professionals may use their experience and personal relationship skills in identifying
and controlling the hazard.

According to the passage, it can be concluded that the main responsibility of an
industrial hygienist is -------—--—- .

1} defining production processes

2) training workers about hygiene

3) identifving and controlling hazards

4} listening to employees about their problems

The word “which” in paragraph 1 refers to ---------—--- i

1) materials 2) processes

3) companics 4) matcrials, cquipment, or serviees
According to paragraph 1, a major reason for creation of a hazard is ---------—--- "

1) a moment ol carclessness 2) using traditional equipment

3) working with chemical products 4) a change in the work activity or task
The word “adapt” in paragraph 1 is closest in meaning to -—-=e---eaeq :

1) adjust 2) asscss 3) enhance 4) contribuic

All of the following are mentioned in paragraph 2 as the features that can be helpful to
an industrial hygienist EXCEPT -----—--—---,

|) experience 2) multitasking
3) listening skills 4) personal relationship skills
PASSAGE 3:

John Muir was born in Dunbar. Scotland, in 1838, but grew up in Wisconsin. 1le
walked from the Ohio River a thousand miles to the Gulf of Mexico, where he planned
to continue south to explore the jungles of the Amazon. However a bout of malaria
turned his sights west to California. where he arrived in 1868, immediately falling in
love with the land.

Over the next decade Muir became well known as a Sicrra Nevada mountainecr,
cxplorer, and naturalist. Later Muir built another more signilicant carcer upon his lirst.
He Dbecame the nation's lorcmost conscrvationist. Yoscmile National Park was
cstablished in 1890 cssentially becausce of Muir's recommendaltions.

Two vears later he helped lound the Sicrra Club, which originally limited its
conservation aclivitics to "preserving the forests and other natural (caturcs of the Sicrra
Nevada Mountaing” belore it branched oul in recent years to tackle global issucs.

In 1903 Muir lured Theodore Roosevelt away from his presidential entourage to
spend three nights in Yosemite. Later the President remarked to his party that the time
he spent talking conservation with Muir was “the greatest day of my life!™ llis
administration was tc make the most sweeping conservation Effort in the nation's
history.
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26- Which of the following best deseribes the function of the passage?
1) Delending John Muir’s conscervation cllorts
2) Desceribing the lilc and times of John Muir
3) Comparing Muir’s ideas on conscrvation with Roosevell’s
4) Mustrating the coneepts of local and global conservation
27-  According to paragraph 1, after getting to the Gulf of Mexico, Muir ------------- ;
1) continued south
2) walked a thousand miles
3) could not stick to his original plan
4) contracted malaria in the jungles of the Amazon

28- It can be inferred from paragraph 1 and paragraph 2 that the Sierra Nevada is -—--—--—--,
1) in California 2) in the Amazon
3) infected with Malaria 4y where John Muir lived his life
29-  Muir is considered to be all of the following EXCEPT ------------- ;
1) a conservationist 2) a mountaineer 3) an explorer 4) a politiclan
30- Which of the following is trune about Roosevelt?
1) He was a conservative president. 2) He convinceed Muir to join his party.
3) He was critical ol Muir’s activitics. 43 He spent three nights in @ national park.
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